## **ORDER #001830**



**Gold Wing Group** 

PO: Shipping Address: Sneakertopia 6081 W Center Dr Unit 222 Los Angeles, CA 90045 Order Date: December 9, 2021 Due Date: Upon Receipt

**EVENT DATE: DECEMBER 21ST, 2021** 

INSTALL: MONDAY AT 8AM - 10AM \*\*MUST BE OUT OUT BY 5:30PM\*\*

PICK UP: WEDNESDAY MORNING AT 6AM SHARP

\*\*MUST BE OUT BY 11:45AM\*\*

Description		Qtty	Price		Total
General					
	Banquet Table, 4ft	2	\$10.00	Т	\$20.00
	Black Lamoure 4ft Linens	2	\$27.50	Т	\$55.00
	Banquet Table, 6ft	2	\$10.00	Т	\$20.00
	Black Lamoure 6ft Linens	2	\$27.50	Т	\$55.00
			Total General		\$150.00
MAIN ENTRA	NCE (OUTSIDE)				
	Green Hedge Panel, 8ft x 4ft	15	\$110.00	Т	\$1,650.00
	Stanchion, Chrome	2	\$17.50	Т	\$35.00
	Velvet Rope Red Velvet	1	\$12.00	Т	\$12.00
	Black Velvet Pipe and Drape, 140ft x 12ft Height	1	\$2,100.00	Т	\$2,100.00
	Electrical Pipes for Curved and Small Area FOR PIPE AND DRAPE	4	\$0.00	T	\$0.00
	Black Carpet Runner, 90ft x 4ft FOR GUEST ENTRANCE	1	\$675.00	Т	\$675.00
	Black Carpet Runner, 20ft x 4ft (1) FOR STEP AND REPEAT / (1) FOR SKATEBOARD	2	\$150.00	T	\$300.00
	Crowd Control Barriers	2	\$75.00	Т	\$150.00
	Patio Mushroom Top Heater	2	\$85.00	Т	\$170.00
	Propane Tanks	2	\$25.00	T	\$50.00
		Total MAIN ENTRANCE (OUTSIDE)			\$5,142.00

Description		Qtty	Price		Total
ENTRANCE LOBI	зү				
	Black Velvet Pipe and Drape, 20ft x 8ft FOR ENTRANCE SIDE WALL	1	\$300.00	Т	\$300.00
		Tot	Total ENTRANCE LOBBY		\$300.00
INSIDE MAIN LO	BBY (ROOM #2)				
	Black Velvet Pipe and Drape, 150ft	1	\$2,250.00	Т	\$2,250.00
		Total INSIDE MA	al INSIDE MAIN LOBBY (ROOM #2)		
MAIN BALLROOI	M (ROOM #3)				
	Black Velvet Pipe and Drape, 160ft	1	\$2,400.00	Т	\$2,400.00
	Silver Bars, 8ft	4	\$350.00	Т	\$1,400.00
	Silver Back Bars	4	\$200.00	Т	\$800.00
	Stanchion, Chrome	4	\$17.50	Т	\$70.00
	Velvet Rope Red Velvet	4	\$12.00	T	\$48.00
	Red Ava Lounge Sets SOFA/ ARMCHAIRS/ COFFEE TABLES SILVER (1) FOR STAGE, SIDE OF STAGE	2 (1) FOR	\$750.00	T	\$1,500.00
		Total MAIN BA	LLROOM (ROOM	#3)	\$6,218.00
SNEAKER BATTL	E (ROOM #4)				
	Black Velvet Pipe and Drape, 130ft	1	\$19,500.00	Т	\$19,500.00
	Black Carpet Runner, 50ft x 3ft	1	\$275.00	Т	\$275.00
	Black Carpet Runner, 30ft x 3ft	1	\$175.00	Т	\$175.00
	Lucite Bar, Straight 6ft	3	\$175.00	T	\$525.00
	Custom Decal (Full Wrap)	3	\$120.00	Т	\$360.00
	Total SNEAKER BATTLE (R			#4)	\$20,835.00
LARGE HANGING	G SNEAKER (ROOM #5)				
	Black Lounge Sets	2	\$750.00	Т	\$1,500.00
	Dior Cocktail Table, Silver	4	\$110.00	T	\$440.00
0	Dior Bar Stool- Silver	8	\$27.50	T	\$220.00
	Total L	LARGE HANGING SNEAKER (ROOM #5)			\$2,160.00

Qtty	Price		Total
1	\$250.00	Т	\$250.00
1	\$350.00	Т	\$350.00
1	\$200.00	Т	\$200.00
4	\$110.00	Т	\$440.00
8	\$27.50	Т	\$220.00
5	\$125.00	Т	\$625.00
Total VIP LOUN	Total VIP LOUNGE STORE (ROOM #6)		
6	\$85.00	Т	\$510.00
6	\$25.00	Т	\$150.00
	Total COURTY	ARD	\$660.00
2	\$85.00	Т	\$170.00
2	\$25.00	Т	\$50.00
Total BACK	CENTRANCE PARKING		\$220.00
1	\$0.00	Т	\$0.00
50 1	\$0.00	Т	\$0.00
	Total OPTIO	NAL	\$0.00
1	\$550.00		\$550.00
<u>'</u>			
1	\$3,250.00		\$3,250.00
	\$3,250.00 \$895.00		\$3,250.00
	1 1 1 4 8 8 5 Total VIP LOUNG 6 6 6 7 2 2 Total BACK	1 \$250.00  1 \$350.00  1 \$200.00  4 \$110.00  8 \$27.50  5 \$125.00  Total VIP LOUNGE STORE (ROOM  6 \$85.00  6 \$25.00  Total COURTY  2 \$85.00  2 \$25.00  Total BACK ENTRANCE PARK  1 \$0.00  50 1 \$0.00	1 \$250.00 T  1 \$350.00 T  1 \$200.00 T  4 \$110.00 T  8 \$27.50 T  5 \$125.00 T  Total VIP LOUNGE STORE (ROOM #6)  6 \$85.00 T  6 \$25.00 T  Total COURTYARD  2 \$85.00 T  2 \$25.00 T  Total BACK ENTRANCE PARKING

Notes

Total Products:

\$40,020.00

Total Labor/Services/Misc:

\$7,945.00

**Taxes**: \$3,801.90

Discounts: (\$0.00)

**Total:** \$51,766.90

Payments: (\$0.00)

**Balance:** \$51,766.90